mean # PXL hits vs eta

<pixel hits>

.....................................................................

Ratio

=

4

PRI T R AT T
*W;,;#ﬁr##*‘ '*;g;;ﬂ#ﬂwwﬁ;;; ' '*‘*‘*"ﬂﬁ#ﬁ* '+'+ '

0.95

3

10 12 3
n

=2

| mean

# PXL Layers with measurement vs eta |

<pixel layers>
N w
N a1 w a1

=
[}

0.5

.....................................................................

o+

Rati

L T Haptyd J
5 *

e

A )

0.95

¢ B I R

mean # STRIP hits V|

—=— DQM_mkFit_TT_retrain-lowpt

—— DQM_mkFit_TTold-lowpt

=
N

=
o

<strip hits>

.....................................................................

<strip layers>

.....................................................................

.
P
p
[ ]

Ratio

1.05

=

IIIIIIIIIIIIII TTrTrT
s RN
: ———

Fo—

="

T

—

s

——

o—

0.95




	Contents
	Page 1


